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Topics
Vector Components
Perpendicular Components
Theorem of Resolved Parts
Resolution of vector in 3-D Co-ordinates

Addition and Subtraction of Resolved

Normal Components
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Perpendicular Components:
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Poll Question 01

-
~

=)

;ﬁCOSD\

a + B = 90° Which one is correct? A ~

i . (X a
(@A) Q = Rcosp
(b) P=Rsinp

(c)Q =Rsina

S
(d) All
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Pulling the Rope of a Boat
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Lawn Rolle and Push

,\%f\o

WHITEBOARD

W + Tein® <

Apparent Weight =
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Physics 1t Paper
Chapter 02 : Vector






WHITEBOARD

Y/

Practice Problem
A lawn roller of 20 kg’is being (1) Pulled (ii) Pushed at an angte-of 36°with
(g e o 9
. What will be the apparent weight?—————
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River - Boat
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Practice Problem
Velocity towards @ and velocity-eppesite to tide of the boat are respectively 18ms~1

and 6ms—1. Whi the boatman have to start to cr;){&ss the rive m time ? At
o wdha ot The vivey s l%w
whichpoimtwill the boat reach the opposite side?

A J(fw\L
nav =194 W = Gwls R
vy -W =0 V= \mfs

: Physics 15t Paper
U e S

DA Chapter 02 : Vector



3 M mum A

wum_ Tvng
d
Tin® o
| \/(&m@)mm
B = 1
0{ = 900
——
L = \kx@'
= X \00 = OO W




WHITEBOARD

Y/

g N
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PSS
_ ;\/‘/ Of two vectors one is double in magnitude-of the other one. If their resultant is
5‘0“0 perpendieutarto one of them, what between the vectors?
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W Poll Question 02

Which one is true for Pulling the rope of a boat ?

N
\/§</
(a) Longer the rope, faster the boat moves
\ J
( R

(b) Shorter the rope, faster the boat moves

& J
4 M

(c) Shorter the rope, less the work for boatman

NG J
4 )

(d) Both (b)and (c)
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Resolution of Vector in 2-D Coordinate 5
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Applying Triangle Law in
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Resolution of Vector in 3-D Coordinate

71 Applying Triangle Law in
AOPM,

Applying Triangle Law in AONP,
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Poll Question 03

P @fc Which one is true for P?

(a) Stands on X-Z plane

~N

-

(b)Magnitude is 13 un%
P Mpendiculaf to P

(d) All three
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Addition and Subtraction of Resolved Normal Vectors
Let,

A

B

Axi+ A, j+ Ak
B.i+B,j+B,k

And fif, R is the resultant of 4 and B
R=A+B=Rxi+R,j+R,k

A+B=(A, % Bx)i+(4,+ By)j+

(A, Bz) k

R, = Ax £ Bx
R, = Ay t+ By
R,=Az+ Bz
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Expression of a Vector From the Coordinates of Initial and Final Point
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Practice Problem
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